



ELSEVIER

Contents lists available at ScienceDirect

Applied Mathematics and Computation

journal homepage: www.elsevier.com/locate/amc

Corrigendum

Corrigendum to “On a family of Laguerre methods to find multiple roots of nonlinear equations”

Beny Neta ^{a,*}, Changbum Chun ^b^a Naval Postgraduate School, Department of Applied Mathematics, Monterey, CA 93943, United States^b Department of Mathematics, Sungkyunkwan University, Suwon 440-746, Republic of Korea

ARTICLE INFO

Keywords:

Iterative methods
Conjugacy classes

ABSTRACT

This is a note to correct the typographical errors in our paper. Dr. Xiaojian Zhou has emailed us “. . . we have some confusions on the results of $S(z)$ (or $S(u)$). For example, for Osada’s method, you have $S(z) = z^3[(m-1)z+2m]$ as shown in Theorem 2.5, but we have $S(z) = \frac{z^3[(m-1)z+2m]}{2mz+m-1}$ where there is a denominator. We have checked all the conjugacy maps $S(z)$ and we present the corrected theorems.

Published by Elsevier Inc.

1. Introduction

The methods discussed here are all special cases of Laguerre’s method

$$x_{n+1} = x_n - \frac{\lambda \frac{f(x_n)}{f'(x_n)}}{1 + \operatorname{sgn}(\lambda - m) \sqrt{\left(\frac{\lambda - m}{m}\right)[(\lambda - 1) - \lambda \frac{f(x_n)f''(x_n)}{f'(x_n)^2} (x_n)^2]}} \quad (1)$$

where $\lambda (\neq 0, m)$ is a real parameter. When $f(x)$ is a polynomial of degree n , this method with $\lambda = n$ is the ordinary Laguerre method for multiple roots, see Bodewig [1]. Some special cases are:

- Euler–Cauchy for $\lambda = 2m$

$$x_{n+1} = x_n - \frac{2m \frac{f(x_n)}{f'(x_n)}}{1 + \sqrt{(2m-1) - 2m \frac{f(x_n)f''(x_n)}{f'(x_n)^2}}} \quad (2)$$

- Halley for $\lambda \rightarrow 0$ after rationalization

$$x_{n+1} = x_n - \frac{\frac{f(x_n)}{f'(x_n)}}{\frac{m+1}{2m} - \frac{f(x_n)f''(x_n)}{2f'(x_n)^2}} \quad (3)$$

- Ostrowski for $\lambda \rightarrow \infty$

DOI of original article: <http://dx.doi.org/10.1016/j.amc.2013.05.002>

* Corresponding author.

E-mail addresses: bneta@nps.edu (B. Neta), cbchun@skku.edu (C. Chun).

<http://dx.doi.org/10.1016/j.amc.2014.09.129>

0096-3003/Published by Elsevier Inc.

$$x_{n+1} = x_n - \frac{\sqrt{m} \frac{f(x_n)}{f'(x_n)}}{\sqrt{1 - \frac{f(x_n)f''(x_n)}{f'(x_n)^2}}}. \quad (4)$$

Two other cubically convergent methods that sometimes mistaken as members of Laguerre's family are: Euler–Chebyshev [2] given by

$$x_{n+1} = x_n - \left(\frac{m(3-m)}{2} + \frac{m^2}{2} \frac{f(x_n)}{f'(x_n)} \frac{f''(x_n)}{f'(x_n)} \right) \frac{f(x_n)}{f'(x_n)}, \quad (5)$$

and Osada's method [4] given by

$$x_{n+1} = x_n - \frac{1}{2} m(m+1) \frac{f(x_n)}{f'(x_n)} + \frac{(m-1)^2}{2} \frac{f''(x_n)}{f'(x_n)}. \quad (6)$$

2. Corresponding conjugacy maps for quadratic polynomials

Given two maps f and g from the Riemann sphere into itself, an analytic conjugacy between the two maps is a diffeomorphism h from the Riemann sphere onto itself such that $h \circ f = g \circ h$. Here we consider only quadratic polynomials raised to m th power.

Here we give only the modified Theorems appearing in [3]. The details of the proofs can be found in maple sheets in the Appendix.

Theorem 2.1 (Euler–Cauchy's method (2)). *For a rational map $R_p(z)$ arising from Euler–Cauchy's method applied to $p(z) = ((z-a)(z-b))^m$, $a \neq b$, $R_p(z)$ is conjugate via the Möbius transformation given by $M(z) = \frac{z-a}{z-b}$ to*

$$S(z) = z \frac{1 + \operatorname{sgn}(z^2 - 1)}{-1 + \operatorname{sgn}(z^2 - 1)}.$$

Proof. Let $p(z) = ((z-a)(z-b))^m$, $a \neq b$ and let M be the Möbius transformation given by $M(z) = \frac{z-a}{z-b}$ with its inverse $M^{-1}(u) = \frac{ub-a}{u-1}$, which may be considered as a map from $\mathbb{C} \cup \{\infty\}$. We then have

$$S(u) = M \circ R_p \circ M^{-1}(u) = M \circ R_p \left(\frac{ub-a}{u-1} \right) = u \frac{1 + \operatorname{sgn}(u^2 - 1)}{-1 + \operatorname{sgn}(u^2 - 1)}. \quad \square$$

Theorem 2.2 (Ostrowski's method (4)). *For a rational map $R_p(z)$ arising from Ostrowski's method applied to $p(z) = ((z-a)(z-b))^m$, $a \neq b$, $R_p(z)$ is conjugate via the Möbius transformation given by $M(z) = \frac{z-a}{z-b}$ to*

$$S(z) = z \frac{[\operatorname{sgn}(z+1)\sqrt{z^2+1}-1]}{\operatorname{sgn}(z+1)\sqrt{z^2+1}-z}.$$

Proof. Let $p(z) = ((z-a)(z-b))^m$, $a \neq b$ and let M be the Möbius transformation given by $M(z) = \frac{z-a}{z-b}$ with its inverse $M^{-1}(u) = \frac{ub-a}{u-1}$, which may be considered as a map from $\mathbb{C} \cup \{\infty\}$. We then have

$$S(u) = M \circ R_p \circ M^{-1}(u) = M \circ R_p \left(\frac{ub-a}{u-1} \right) = u \frac{[\operatorname{sgn}(u+1)\sqrt{u^2+1}-1]}{\operatorname{sgn}(u+1)\sqrt{u^2+1}-u}. \quad \square$$

Theorem 2.3 (Euler–Chebyshev's method (5)). *For a rational map $R_p(z)$ arising from Euler–Chebyshev's method applied to $p(z) = ((z-a)(z-b))^m$, $a \neq b$, $R_p(z)$ is conjugate via the Möbius transformation given by $M(z) = \frac{z-a}{z-b}$ to*

$$S(z) = z^3 \frac{z+2}{2z+1}.$$

Proof. Let $p(z) = ((z-a)(z-b))^m$, $a \neq b$ and let M be the Möbius transformation given by $M(z) = \frac{z-a}{z-b}$ with its inverse $M^{-1}(u) = \frac{ub-a}{u-1}$, which may be considered as a map from $\mathbb{C} \cup \{\infty\}$. We then have

$$S(u) = M \circ R_p \circ M^{-1}(u) = M \circ R_p \left(\frac{ub-a}{u-1} \right) = u^3 \frac{u+2}{2u+1}. \quad \square$$

Theorem 2.4 (Osada's method (6)). For a rational map $R_p(z)$ arising from Osada's method applied to $p(z) = ((z-a)(z-b))^m$, $a \neq b$, $R_p(z)$ is conjugate via the Möbius transformation given by $M(z) = \frac{z-a}{z-b}$ to

$$S(z) = z^3 \frac{(m-1)z + 2m}{2mz + m - 1}.$$

Proof. Let $p(z) = ((z-a)(z-b))^m$, $a \neq b$ and let M be the Möbius transformation given by $M(z) = \frac{z-a}{z-b}$ with its inverse $M^{-1}(u) = \frac{ub-a}{u-1}$, which may be considered as a map from $\mathbb{C} \cup \{\infty\}$. We then have

$$S(u) = M \circ R_p \circ M^{-1}(u) = M \circ R_p \left(\frac{ub-a}{u-1} \right) = u^3 \frac{(m-1)u + 2m}{2mu + m - 1}. \quad \square$$

These corrections to the maps did not affect any of the numerical results or the conclusions.

Acknowledgements

The authors thank Dr X. Zhou for his email.

Appendix

• Euler–Cauchy's method

restart:

```
a:=1:b:=-1:
f:=x->(x^2-1)^m:
fd:=unapply(diff(f(x),x),x):
fdd:=unapply(diff(f(x),x,x),x):
EulerCauchy3:=x->x-2*m*f(x)/fd(x)/(1+sqrt((2*m-1)-2*m*f(x)*fdd(x)/fd(x)^2)):
x:=(u*b-a)/(u-1):RMinv:=simplify(EulerCauchy3(x)):
R:=u->simplify((RMinv-a)/(RMinv-b)):simplify(R(u)):
```

• Ostrowski's method

restart:

```
a:=1:b:=-1:
f:=x->(x^2-1)^m:
fd:=unapply(diff(f(x),x),x):
fdd:=unapply(diff(f(x),x,x),x):
Ostrowski3:=x->x-sqrt(m)*f(x)/fd(x)/sqrt(1-f(x)*fdd(x)/fd(x)^2):
x:=(u*b-a)/(u-1):RMinv:=simplify(Ostrowski3(x)):
R:=u->simplify((RMinv-a)/(RMinv-b)):simplify(R(u)):
```

• Euler–Chebyshev's method

restart:

```
a:=1:b:=-1:
f:=x->(x^2-1)^m:
fd:=unapply(diff(f(x),x),x):
fdd:=unapply(diff(f(x),x,x),x):
EulerChebyshev3:=x->x-m*(3-m)/2*f(x)/fd(x)-m^2/2*(f(x)/fd(x))^2*fdd(x)/fd(x):
x:=(u*b-a)/(u-1):RMinv:=simplify(EulerChebyshev3(x)):
R:=u->simplify((RMinv-a)/(RMinv-b)):simplify(R(u)):
```

- Osada's method

```
restart:
```

```
a:=1:b:=-1:
f:= x-> (x^2-1)^m:
fd:= unapply(diff(f(x),x),x):
fdd:= unapply(diff(f(x),x,x),x):
Osadam3:=x-> x-m*(m+1)/2*f(x)/fd(x)+(m-1)^2/2*fd(x)/fdd(x):
x:= (u*b-a)/(u-1): RMinv:=simplify(Osadam3(x)):
R:= u-> simplify((RMinv-a)/(RMinv-b)): simplify(R(u)):
```

References

- [1] E. Bodewig, Sur la méthode Laguerre pour l'approximation des racines de certaines équations algébriques et sur la critique d'Hermite, *Indag. Math.* 8 (1946) 570–580.
- [2] J.F. Traub, *Iterative methods for the solution of equations*, Chelsea publishing company, New York, 1977.
- [3] B. Neta, C. Chun, On a family of Laguerre methods to find multiple roots of nonlinear equations, *Appl. Math. Comput.* 219 (2013) 10987–11004.
- [4] N. Osada, An optimal multiple root-finding method of order three, *J. Comput. Appl. Math.* 51 (1994) 131–133.